H & 0l & AHS B Ml A

SA AL
MY CRAM U P2
CHel: BtEZ 2o EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
rar-=inl; 53,492,787 43,662,840 9,829,947
= 500,000
[ 1,555,000
= 7,270,995
CH 3,200,000
= 40,966,792
CeAd 2 2l 14,916,440 11,264,840 3,651,600
= 455,280
o 14,461,160
UBIEZ 2He| 8,004,000 6,302,000 1,702,000
T EHIAHY 2,002,000 300,000 1,702,000
401 AIEHIZ SR THYI 2,002,000 300,000 1,702,000
01 AlZ8| 2,000,000 300,000 1,700,000
o MROHLE~F4E] 0|8 2 25 SEES
At 1,500,000,000& *14] 1,500,000
oMY HHS 2 EHEIYSA
500,000,000 » 14 500,000
03 AIZ S THYI 2,000 0 2,000
o THHIAIY HRFH 2,000,000 2,000
SHEZZ ZHIAKY 6,002,000 1,602,000 4,400,000
401 AIEHIZ SR OHYI 6,002,000 1,602,000 4,400,000
01 Al&HI 6,000,000 1,600,000 4,400,000
UMY 01 SOEE2 HEFTA
1,500,000,000& *x14] 1,500,000
olAN~ZF AL HZEZ HESA
3,500,000,000& * 14 3,500,000
oS50/ FHL sHERZ HZISA
1,000,000,000& *14] 1,000,000
03 Al 20HHI 2,000 2,000 0
oSOHETZZ FHIAIY g2
2,000,000& 2,000
IEE20He 2,200,000 792,000 1,408,000
= 350,000
Ea 1,850,000
OEl0l 257 HEAIS (HEALY) 500,000 532,000 /32,000
S 250,000
o 250,000
401 Al HIZ R 0HbI 500,000 532,000 /32,000
== 250,000
o 250,000
01 Al&HI 500,000 532,000 A32,000
o0El0I2S 7 HEAS
500,000,000 * 14 500,000
= 250,000

- 419 -




SA AL
Y CRAM U P2
el AEE2oHA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 250,000
LOIES R JHEAG (HEALY) 200,000 150,000 50,000
== 100,000
[Ea 100,000
401 Al HIZL S 0HYI 200,000 150,000 50,000
< 100,000
s 100,000
01 Al&H| 200,000 150,000 50,000
o9l B9 JHHAIE
200,000,000 * 14 200,000
= 100,000
Ea 100,000
WSALLD A2 WAL 1,500,000 110,000 1,390,000
401 AIEHIZ SR THYI 1,500,000 110,000 1,390,000
01 AlZ8| 1,500,000 110,000 1,390,000
BT TRIWA Abet
1,500,000,000& 1,500,000
=X 25 2el 4,411,880 3,870,280 541,600
= 105,280
= 4,306,600
2 |2l 3,578,880 2,892,880 686,000
= 5,280
[Ea 3,573,600
201 er2 3| 108,880 96,680 12,200
=S 5,280
s 103,600
01 AtR2tc|Hl 30,880 24,680 6,200
ofd HUEF 200,000 x4 *105 8,000
op4el mejm Do
200,000& x3E *42] 2,400
= 2,400
opad T2 YD 2T |
8,000 *x3& » 120 2,880
= 2,880
SRR ALBE X3
3,000,000& *14] 3,000
oXGtAE MIIAE & AL =aHl(&43
s, %8, ¢&) 2,000,000 *37H 2= 6,000
oA 22= 300,000 64 1,800
oHEE MERY 22 =4 S|
8,000 7 +70 3,920
ozac R FA SEH|
8,000 x4 »90 2,880
02 S3=gl 78,000 72,000 6,000
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2A:

rar=;

ZH: C2is o B2
el RAES 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oL2HE, ENEY S Z21d FAE+
750,000 * 12 9,000
oAUEANE ks 18,000
B 100,000 «12& 1,200
-H2Xo Xt = 100,000« 12& 1,200
-2E HZEA 500,000& 122 6,000
-2 St s 500,000 * 12 6,000
-28 B2 200,000& * 128 2,400
L& B2 E 100,000 »12& 1,200
oN&xtd 7= 3,000,000& *7CH 21,000
oN&dH =2 5,000,000 ~6CH 30,000
202 0o4dl 4,000 3,000 1,000
01 2L AL 4,000 3,000 1,000
oLZRAAe| YR FA
20,0003 x4 50! 4,000
203 =] 3,000 3,000
03 A=A =] 3,000 3,000
oHLUR = 750,000 *4=2 7| 3,000
206 M=l 400,000 230,000 170,000
01 MZH| 400,000 230,000 170,000
o RS AN 30,000
-Z235tE, E2E+8 7 =
5,000,000 65 30,000
ocHM&EXEE A 320,000
-NEM(AS, S3t28E 8)
80,000,000& 45 320,000
oNEXY ANASAHL FFH XS
50,000,000 50,000
307 @I2t01 & 20,000 20,000
06 28= 20,000 20,000
oF - H MEXNIFSAHAL o2
20,000,000& *14{ 20,000
401 Al HIZL 2018 3,043,000 2,563,200 479,800
01 Al&H| 2,765,000 2,320,200 444,800
o2 B 700,000,000 x 14 700,000
ok & SHERZ XdEHY
10,000, 0002 *50km 500,000
o2 SFEH ¥ USYH= A S
20,000,000 * 1094 2= 200,000
o ZH EHID| At 700,000 *450km 315,000
o ZOMAIEE HUI(EXIE, BIAHE, JtE
de, HEEXE S)
500,000,000 » 14 500,000
oxt ¥ SHEZZ OIXNSEX 243
60,0002 »7,500m" 450,000
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SA AL
MY CRAM Y P2
el RAES 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ot =2 Z& EF 41X A
100,000,000 *14] 100,000
03 Al =2 0HHI 278,000 243,000 35,000
ocLZRIALIE SI(24DI, 82, =£%
Hl S) Xtz 20,000,000 *3& 60,000
cHEXYSE SI(2AD], 8X ) gz
30,000,000 »7CH 210,000
oRiEae| MY =8 8,000,000& 8,000
wg SN2 833,000 977,400 A144,400
= 100,000
o 733,000
401 Al HIZ S 0HYI 833,000 977,400 144,400
== 100,000
o 733,000
01 Al&HI 830,000 975,000 145,000
cugdUNMEAH
62,500,000 44 2= 250,000
S 100,000
= 150,000
cuwgFIHMEAH 80,000,000 *14] 80,000
oy S22l L 24(7H)
500,000,000 *14] 500,000
03 Al 20HHI 3,000 2,400 600
olg RALS PR =4
3,000,000& 3,000
HEE HAsZTE 2 300,000 300,000 0
HASZE 2el 300,000 300,000 0
401 A& HIX R0 300,000 300,000 0
01 AlZH| 300,000 300,000 0
oASZIH ME & Wit
10,000,000 *109H 2~ 100,000
oHASZE HeZ TBALE £X
2,500,000 +40JH 2 100,000
oHASHE B4 & 2ZEHl Al
50,000, 000& »23] 100,000
C2HE0 It 560 560 0
Czaeyes 2d 560 560 0
201 fet= 3| 560 560 0
01 AtR2t2|HI 560 560 0
oZHE =& o =€
70,0002 x4 +23] 560
nSAF Ho 12,701 11,035 1,666
CR2USETA 12,701 11,035 1,666
2 IS ZA 29 12,701 11,035 1,666
101 @12A4H| 9,053 7,387 1,666
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SA AL
M DEHH WM
=2 C2uSEXA (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M ORIMZZ2NSE S 9,053 7,387 1,666
CWSYXIA UAHI(ZE)
76,9602 x6H <1 7,389
CWSTAL QA ORI+EH(ZE)
38,4803 x32H 1 1,232
cAUEEE 8,621,000 +5% 432
201 er2 3| 3,648 3,648
01 At2tltl 3,648 3,648
cuSE XA HEIH P
10,0003 *B6H*35 2,880
cnEE AL 2EH| 8,000 +%6H 768
SHMHAD[BHEHI 8,540,380 8,336,880 203,500
= 500,000
== 1,906,250
o 6,134,130
sgoIgtEd 4,176,500 3,407,000 769,500
= 500,000
= 1,666,250
o 2,010,250
SIIEAIE 2t 1,100,000 1,100,000 0
401 Al HIZ R 0HbI 100,000 100,000
01 AlZ8| 100,000 100,000
osIIBAIE DIEEX 243
100,000,000 * 14! 100,000
403 AXIEHHSAH=0lH 1,000,000 1,000,000
02 SIS0t 2 S A A 1,000,000 1,000,000
oS=sHESATASU sEIIEAIE Y
100,000, 0002 * 1091 2 1,000,000
SYIIEAIE THoHS2AIS 639,000 633,000
401 Al HIZ S OHbI 639,000 639,000
01 A28l 639,000 639,000
o 2/0tM =Xl THol S A
639,000,000 *14] 639,000
SIS IH(HPEZRNEE-ASX7) (HEAIY) 1,250,000 625,000 625,000
== 1,075,000
= 175,000
401 Al HIZL 201 1,250,000 625,000 625,000
= 1,075,000
o 175,000
01 AlZH| 1,148,000 583,000 565,000
oA+ W& B2
1,148,000,000& x 14} 1,148,000
=S 989,000
s 159,000
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SA AL
M Sl MAT| U
Celr sHIIgtxd EER=E)
SA - B BRA(SH) - HRA - of v G o HIDE2
02 Zeltl 100,000 40,000 60,000
oA HE BXIE2AY Zeltl
100,000,000 *14] 100,000
= 86,000
Ea 14,000
03 AlESTHYI 2,000 2,000 0
oAEXT W7 XA & &
,000,000%2 %14 2,000
SIS EH(HFEZ X Ee|-US X 2) (M EAY) 625,000 100,000 525,000
= 537,500
s 87,500
401 AlEHIZ SO 625,000 100,000 525,000
= 537,500
Ea 87,500
01 A28l 574,250 100,000 474,250
oWS X7 +& BXF AL
574,250,000 *14] 574,250
== 495,575
o 78,675
02 2l 48,750 0 48,750
cUSK7 =& SXNF2IME &
48,750,000 x 14 48,750
= 41,925
o 6.825
03 AIE R 0HHI 2,000 0 2,000
oUWS X7 +& BXFCIAL =
,000,000& * 14 2,000
SAIBHEH (P& X E -8 2 X 7) (M EAY) 62,500 0 62,500
< 53,750
s 8,750
401 Al HIZL 201 62,500 0 62,500
= 53,750
= 8,750
01 Al&H| 62,500 0 62,500
od&Al+ & B
62,500,000 *14] 62,500
=S 53,750
s 8,750
BH==JH& 500,000 0 500,000
= 500,000
401 AIEHIX R0 500,000 0 500,000
= 500,000
01 Al&H| 398,000 0 398,000
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SA AL
. YLD
el sgoletxd EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SAEXF HH==IHE AL
398,000,000 * 14 398,000
= 398,000
02 2l 100,000 0 100,000
SUEXIT thaIhEAR 22l
100,000,000 14 100,000
2 100,000
03 Al SCHb| 2,000 0 2,000
SHEXT HHANLAR SREX
2,000,000 %14 2,000
= 2,000
SHEFNL 4,363,880 4,929,880 566,000
S 240,000
= 4,123,880
J=MEoImel (X BN ) (HEAIY) 1,722,000 3,000,000 A1,278,000
401 Al HIZ 2018 1,722,000 3,000,000 A1,278,000
01 Al&HI 1,570,000 2,756,000 A1,186,000
AT KH=s BAMLALS
1,570,000,000& » 14 1,570,000
02 Zeltl 150,000 240,000 290,000
oZdXT KNH 22HEAGE 22l
150,000,000 * 14! 150,000
03 Al 20HHI 2,000 4,000 /2,000
SEANT NEL HAWLAY 225z
2,000,000 *14! 2,000
MNa=XIAE =X 2] 790,560 710,560 80,000
201 eer23y| 12,960 12,960 0
01 AtR2t2lHI 12,960 12,960 0
osUEMA =EHZAHI
140,000& *720H 2 10,080
osgJgEH B2 A S|
8,000& x4 & *90 2,880
202 04| 5,600 5,600
01 =LHA LI 5,600 5,600
osgJ|e YR A
20,0002 x4 70 5,600
401 Al HIZ S OHbI 772,000 692,000 80,000
01 AlZ2H| 770,000 690,000 80,000
oMl B B2 3AM
400,000,000 *14] 400,000
o=l 2| AIAE A
250,000,000 * 14 250,000
oMl HNEH 120,000,000 14| 120,000
03 AIZSTHYI 2,000 2,000 0
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2A:

rar=inl
. YLD
el sgEEsNe (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CLSNAX B4 PABM S =2
2,000,000& 2,000
SYENSt=AIE 7 A2 542,400 492,400 50,000
201 er=23y| 32,400 32,400 0
01 AtR2t2|HI 8,400 8,400 0
osHEKGte =S A
120,000& *707H 2 8,400
02 S52g4l 24,000 24,000 0
oclAE 3323 2,000,000& ~12& 24,000
401 Al HIZL 201 510,000 460,000 50,000
01 Al&H| 510,000 460,000 50,000
oHYLE S S2UNEE 24
5,000, 0002 *40JH 2 200,000
oEABNIGIS AHEA L BRI B
7,000,000 *30IH £ 210,000
osgE g2 & UM
20,000,000 574 2~ 100,000
Sl tH 2 Z AIE 7 Xl 2t 1,007,920 7,920 1,000,000
201 Ler=23| 7,920 7,920 0
02 S3=4gHl 7,920 7,920 0
oSl RE A=J| A2
7,920,000 7,920
401 AIEHIZL SR THY] 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
oBIHUHE S+oHe
1,000,000,000& *14] 1,000,000
SIBEHI(AlZ2el el AI8- 44X ) (HEAY) 301,000 301,000 0
= 240,000
o 61,000
401 AIEHIX SO 301,000 301,000 0
= 240,000
o 61,000
01 AlZ2H| 300,000 300,000 0
od AT AlZ 2l =elAlE e+
300,000,000& *14] 300,000
< 240,000
[Ea 60,000
03 Al 20HHI 1,000 1,000 0
SEMIIF AlZ&te] =elAlE HEx
1,000,000 %14 1,000
SEN SR 10,883,380 8,559,500 2,323,880
< 1,670,000
= 9,213,380
sSEHFIIEEY 10,883,380 8,559,500 2,323,880
= 1,670,000
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A A4t
M =X
o2 sEEFI|exd (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
[ 9,213,380
28 FRIEAALS 4,955,480 4,777,500 177,980
201 B2 AY| 12,480 0 12,480
01 A=R2teld| 12,480 0 12,480
oAND FOIHUAY MHXAE 2Y 2
=l 8,000 # 13 120 12,480
401 AIEHIZL20Hb] 4,943,000 4,777,500 165,500
01 Al&HI 4,870,000 4,764,500 105,500
o&AT 0222 ADI0IE sS2MEBAL
30,000,000 14! 30,000
oHAZ FoHel HotitS tH+=2 HEIZA
35,000,000 14 35,000
o&HAHE oHE3el RL0IE s HEESA
24,000,000 14! 24,000
oHAE 2tg4e| E0IS o2 THEESAL
24,000,000 3 14| 24,000
oHAZ WAH1e WAHDIS S22 FHIS
At 60,000,000 14| 60,000
o¥dHT WH2el YLENS HEEIA
22,000,000 14! 22,000
oHAHZ 0F222] AD|0tS ot THEE I A
25,000,000 3 14 25,000
oHAEZ FE3El A0S o2 THEEIAL
35,000,000 *14! 35,000
oTHE HM3E HEOIS 01 WEETA
28,000,000 14! 28,000
oHAE Fi2| FRAOIE o2 MMIEES A
25,000,000 3 14! 25,000
oHAZ &S =2 FUIESA
50,000,000 *14! 50,000
o&AHE o2 HMOIE ot MEEISA
50,000,000 14! 50,000
oHAE FA2 FBO0HIE BH:HZ X3
At 50,000,000 14! 50,000
oHAZ ER2e| A0S E+Z HUIBA
40,000,000 * 14 40,000
oA E EXI3e| A0S =2 HEISA
30,000,000 14! 30,000
o¥HE 22l =2 EdISA
30,000,000 14! 30,000
oHAZ Jl42| =2 HHIS At
20,000,000 *14! 20,000
ol 232 22012 =& JUlSAt
80,000,000 14! 80,000
oA 2o2| =HOIE =2 ZUISAH
60,000,000 14! 60,000
ol Azl A0S HEEZA
50,000,000 *14! 50,000
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SM: AL
M SEXN G
&l sEFEFIIEEY
(=] X oI5 = M2 OH E‘“.—jE
SA - B SAEH) - HRAY - BES Ol ot O atos
oXAH S32| A0S A=SM
50,000,000 14! 50,000
oXP stzp| SAUNIS HATE HHIZ
At 50,000,000 14| 50,000
SR BrMe| BMOIS OH2 WEEBA
40,000,000 14 40,000
oA ME2| HS0I2 SEHEBA
30,000,000 14! 30,000
oXAH g2 2302 sZ2EEZA
25,000,000 14 25,000
oXAH Al C0lE S2EESAM
30,000,000 * 14 30,000
ogd Otdal 20t0tS o= 7SAt
50,000,000 14! 50,000
o<t MEic] SEH0IZ Ui=2 FUISAH
30,000,000 14 30,000
od™ F&el 2802 s ZE3A
30,000,000 * 14! 30,000
ogd dFe| HHDIS S22 SHEHEIA
40,000,000 14! 40,000
oM A2 HEOIZ UI=Z HUISAH
30,000,000 14 30,000
o4t OtdEel A0S s58 SEESA
50,000,000 * 14! 50,000
od® 42| 3E0I2 ot HEEIA
30,000,000 14! 30,000
o<t A2 HADIZ UI=2 FUISAH
80,000,000 14 80,000
ol 252l AIZ0IS 2% HXSBA
30,000,000& %14 30,000
oLt 282 ZHOIS A2 FHISBA
20,000,000 14! 20,000
ozZ3tH JdEel 32012 =2 JHISA
50,000,000 14! 50,000
ozstH 2&el JtE0IS =2 JHISA
60,000,000& *14! 60,000
oS3l JHEe| 2102 i3 FUISA
33,000,000 * 14! 33,000
ozstH Eate| EXN0IE =& JHISA
27,000,000 14 27,000
ozstH FEel eSS =2 JHISA
30,000,000& %14 30,000
oS3t Halel A0S ot EEIAL
35,000,000& * 14! 35,000
oZstH S5l ZANE ot EEIBAL
50,000,000 14 50,000
oZstH JdEHe| AYE0ES o2 ZEHIA
40,000,000& *14! 40,000
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SN AL D
B SEX AN
9l SEZ)|BEY
. FEE
SA - HB . R(B) - HIRAY - BES ol &y Sisron
oS T2l HOIE T2 HEITAF
35,000, 0002 %14} 3,000
oS LTIRl A0S AR FUIBM
45,000,00024 14! 45,000
SMND Ba2l FAOIS A2 FHITA
35,000,000 14] 35,000
SMMS A0l =A0IS 42 ZHIZA
35,000, 0002 %14 3,000
CMNS SR SSOIS A2 ZHITA
30,000, 00024 %14} 30,000
SMAD ThR2l QIXIOIE S8 HXITA
80,000,000 14] 80,000
AN HiZ2l BHB0IE A5 SXBA
50,000, 0002 %14} 50,000
MM T2l A4S0 RS A
30,000, 00024#14} 30,000
CMMS T2l HESOIS HREETA
50,000,000 14] 50,000
CHNS T2 HHOIS 52 HHBA
50,000, 0002 %14} 50,000
SN M2l YEOIS 52 HTBA
30,000, 00024%14} 30,000
SMANB ARl ZHOIS BH42 FHIBA
35,000, 0002!%14} 35,000
MM HIE2 HES0E 52 HESA
20,000, 00024 %14} 20,000
oMe FelR| B0 842 FHIBA
26,000,002 %14} 26,000
oA MT2 TS0IS AETA
50,000, 00024+ 14} 50,000
oAE AzRl ZEOIS WERBA
45,000,0002 14| 45,000
CANS SHEI HADIS A HID
At 30,000,000 141 30,000
CA LAD| (HR0IS AHSA HID
At 25,000, 0002 %14} 25,000
CANN £22| SHOIS BIH2 ZUITA
26,000, 0002 %14 26,000
SANB 42 BSOS Bi4Z FHIBA
38,000, 00024%14] 38,000
SAH FAR| SIS THEEB A
27,000,002 %14} 27,000
SATNY Far2l LH0IS HEEZA
35,000, 0002!#14] 35,000
oME ADI2] REDIS BH42 FHIBA
85,000, 00024 %14} 85,000
SAAS LRI OIH0IS BH42 ZHIZA}
35,000, 0002 %14} 35,000
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SA AL
g sEXNSHL
el sEIFI|EEY (Cte: M
< _ SEE
SA - Y- GRA(B) - HRAY - BES Ol &t S HlmE2
o&NAE WAl gXiote s2 FHISA
35,000,000 14| 35,000
o8N Y| FAS0tS o2 ZESA
90,000,000 14} 90,000
cEEH ST 12| WHOS Bi+=2 ZHISA
80,000,000 x 14| 80,000
oEEW M2l Ll S22 JHI3
At 35,000,000 * 14} 35,000
oEEM =S| MHI0S =2 FHISA
60,000,000 *14] 60,000
cEEM AEC HA0IS =2 FHISA
25,000,000 * 14| 25,000
oEEH SF22| YOS =2 FHISA
40,000,000 14| 40,000
cEH 332 A=S0E 82 JHIS
Ak 45,000,000+ 14| 45,000
oN&H E222| Z2H0IS =2 ZHISA
60,000,000 * 14| 60,000
oNad F=2c| W30E 2uY JUISA
50,000,000 * 14| 50,000
oM&H FAe| UZ0IS B2 A=SSA
80,000,000 *14] 80,000
oN&E 22| FL0IS =2 FHISAH
50,000,000+ 14| 50,000
oN&ad Fate| A0S =2 HBISA
40,000,000 14| 40,000
oN&® =22l SH0E ndxZE EX13
At 30,000,000+ 14| 30,000
oN&HE =2l SL0IS =2 FHISAH
25,000,000 14} 25,000
oSgH MEcl SR0E EH ZXSA
50,000,000 * 14| 50,000
oS BHAlg| BHAIOLS Hi=2 FHISA
60,000,000 x14] 60,000
oS8 Al LF0IS =2 FHISAH
50,000,000+ 14| 50,000
oS2H il HB0E s2 LS
35,000,000 14| 35,000
oS5gH el EcI0ts Si+=2 FHI3
At 50,000,000+ 14| 50,000
oS2H dakg| JAits ot A SA
50,000,000 * 14| 50,000
oS2H 492l MS0E 52 ZESA
50,000,000 14| 50,000
oS08 A2l R4S =2 FHISA
80,000,000 *14] 80,000
oS0/ 2| S40IS =2 FHISA
90,000,000+ 14| 90,000
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2A: A4
M SEXN G
ol SEFEI|UEY (249119
_ _ q A
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
o=0|H 282 202 =2 ZUISA
35,000,000 14! 35,000
o=0|H Alde| 43012 =& JEISA
70,000,000 14 70,000
oS0/ 28| 3012 =2 JHISA
30,000,000 * 14 30,000
=20 42| BolllE 82 EHIZA
50,000,000 14! 50,000
o=20|H 28| SE0I2 o2 MEESA
70,000,000 14 70,000
o50|H X2l E20I2 =2 SEESA
40,000,000 14 40,000
oS50t Ede| Hs0ls 2 FHISA
40,000,000 14! 40,000
oS50t 252l 2502 E+2 ZHISA
40,000,000 *14] 40,000
oS0t d2cl EXI0E =2 EUIZA
30,000,000 * 14! 30,000
oS0t 4| AS0S Mol SRS A
50,000,000 14! 50,000
o=5tH 24l HAS0I2 =& JHISA
50,000,000 14 50,000
oS0t el HHEits 88 EXI3At
40,000,000 14 40,000
oS0t HZel oS0t S22 ZESA
40,000,000 14! 40,000
o=5tH ietel SEOIE =& JHISA
40,000,000 *14] 40,000
o=5tH HA2| MEDE =g ZUISA
30,000,000 * 14 30,000
otg o2 &2 ZX e
200,000,000 14 200,000
CAND ZFDIMOIAY AN BAY|
100,000,000 14 100,000
03 Al CHYI 73,000 13,000 60,000
oAAR FUHAANY EXZE L SII0]
l 60,000,000 * 14! 60,000
oA @ ZIHOIAY 7
13,000,000 & 14! 13,000
FOHAALS 2,185,000 880,000 1,305,000
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OIS ERINENL-ZE0S(HEAIY) 200,000 250,000 /50,000
401 AIZHIZ S THE 200,000 250,000 50,000
01 A28l 199,000 248,200 AN49,200
odH 2E0t= M=2SIIAE
199,000,000 * 14! 199,000
03 Al 20HHI 1,000 1,800 2800
ogt Zell= UIS2=SJIAMY =
1,000,000 %14 1,000
OIS ERINENL-LEC| (M EALY) 200,000 250,000 £50,000
401 AIZHIX S0HH 200,000 250,000 50,000
01 A28l 199,000 248,200 A\49,200
=01 2E2 IIS2SIIAE
199,000, 0003 * 14! 199,000
03 A& S CHYI 1,000 1,800 A800
o=01H 22| 0ISSIIAMY =
1,000,000 14| 1,000
OSSN SHL-2S0IS(HEAY) 250,000 50,000 200,000
401 Al HIZ 01| 250,000 50,000 200,000
01 Al&H| 248,000 50,000 198,000
c28W FE0I= IISYSIIANE
248,000,000 x 14 248,000
03 AIESTHYI 2,000 0 2,000
CHEN HE0IS NISUSIIMY =X
2,000,000& *14] 2,000
S SHASENL-SAHH 50,000 50,000
401 Al HIZL 201 50,000 50,000
01 Al&H| 50,000 50,000
SHB ASE FESEINIIANL (200
S0 SEN) 50,000,000& » 14 50,000
OFSHSD|-AI R (M EALY) 100,000 100,000
401 Al HIZ S OHbI 100,000 100,000
01 AlZ2H| 100,000 100,000
o AAOIS(2H2) BISeHESIIAIY
50,000,000& »24! 100,000
SENL ALY 2t 200,000 100,000 100,000
SEHEMY 29 200,000 100,000 100,000
401 Al HIZL 01| 200,000 100,000 100,000
01 Al&H| 200,000 100,000 100,000
oANEE7Al2c 200,000,000 x 14 200,000
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T BHSSAY|(ALD)
el QIEE2E ESR=ED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
HYSHHH(HAL ) 251,727 159,559 2,168
T 164,465
= 87,262
olE=2Z| 223,49 159,559 63,940
T 164,465
= 59,034
ol 2| 59,034 0 59,034
101 2124d| 59,034 59,034
01 2= 59,034 59,034
oS AIZI2AZRAlIZ
11,1302+ 17Z +26 A1 2k + 12 59,034
S8 22| 164,465 159,559 4,906
& 164,465
101 214 d| 145,157 140,827 4,330
= 145,157
03 SRH(RINHS) 22X 2 145,157 140,827 4,330
SPIE== 1,877,000& 3 *12& 67,572
& 67,572
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T 5,760
&z 910,500 *3H *23 5,463
& 5,463
o&dZ2Y Itz 60,0003 *3H 123 2,160
& 2,160
o HAFIIHI 1,126,200& »3% 2 & 6,758
= 6,758
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& 5,040
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& 3,960
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& 2,160
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00,0003 *3H 123 21,600
T 21,600
SRS 1,877,000& 3 x4 22,524
= 22,524
M HAFRE3S 19,308 18,732 576
T 19,308
M SRHE(PINHS)2ZX B828€=2 S 19,308 18,732 576
o308z BEE 145,157,000 *4 . 5% 6,533
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= 6,533
oZ0AAEEHS 145,157,000 *4.. 0% 5,807
= 5,807
olE - M BE8= 145,157,000 *4 . 8% 6,968
= 6,968
[2Zdl 28,228 0 28,228
J|1E23&| 28,228 0 28,228
201 2| 23,368 0 23,368
01 AtR2telt] 23,368 0 23,368
oSEAMNEA P 25,0003 288 Ax53] 3,500
oMAI=EAD| A28 Y 8,320
e 1,000,000 42| 4,000
-E4 180,000& x4 CH 63 4,320
odl0IMEZelH EH 2
250,000 *4CH*43] 4,000
SJ|EH AIRES 12,0002 x395 *43| 1,872
o&D| AUz 63,0002 122 756
cl2RER 4,920
-=2X 18,0002 * 10123 2,160
NN 10,0002 *23%* 123 2,760
203 AR F=&lH| 4,860 4,860
M PA2IHRFALI 4,860 4,860
<30 =1t
(400,000&+(5,000&*1H ) )x12& 4,860




